5
o
3
51 % |=|3]| [3]|8ls
2 | E |52 [z|glln
z |g|&|8|e|2|85
o| 2| & ®| ST =
Slolg|lel8|=| g £ 2
TiHEHEHEE ;
ols|3|R|E|le|lEl 3 2 3
OlS|u|lm|alE|5 = 14 (®)
E([C|E|E|E|C]|C
713|13]5[6[3]3
11 9212 | 5] 7| 5| 5| 3| 5(10 -/ RM2
2| 9245 | 7| 8| 6| 9| 4| 9(10 -/ RM1
3| 9644 | O 6] 5] 5| 5| 4|10 DTI1/MS, TCD, MN1, OM1, PAC, Practica dom
4] 9239 | O 9| 5] 7| 4| 6| 9 -/ TCD, RM2, OM1, Ed fiz3, Practica dom
5| 8795 | Of O O] Ol Of O] O AM, SIM, Mec1, GD, Mec2, DTI2, Algebra / RM1, Mecanisme, Termoth2, TCD, VM
6| 9284 41 7] 5] 5] 3| 5] 9 DTN, DTI2 / RM1, TCD, OM1
7| 9648 | 4| 8| 5| 5| 6| 4] 9 -/ TCD, Practica dom-10
8| 9651 | O| 7| 6| 5| 4| 4(10 SIM/ -
9] 10128 | 0] 5 7| 7] O] 6[10 -/ RM2, OM1, PAC
10 9297 | 5| 8| 5[{10| 3| 9] 9 SIM / -
11] 9299 | O 8| 7| 5| 4| 5|10 SIM / RM1, TCD, Ed fiz3, Practica dom
12| 10136 | 7| 7| 7| 6] 5| 7|10]| 6,733|SIM/OM1
13| 9307 | 8[10| 5|10 6/10]10| 8,233] -
14| 9309 | 5| 9| 6]10| 4| 5/10 SIM / -
15| 10157 |10 7| 6] O] O[10]|10 SIM, CE, PCLP, Fizica, Termoth1, Chimie, TM / RM1, Mecanisme, Termoth2, RM2, MN1, VM
16 9329 | 5|10 5] 9| 4| 8|10 -
17 10179 | 5( 5] 5] Of Of O] 7 -
18| 9363 | O] 8| 6/ O O] O] O -/ RM1, Termoth2, RM2, Practica dom
19| 9377 | 6 6] 6] 9| 4| 6] 9 SIM/ -
20| 8914 | O] 6| O O O] 5/10 - / RM1-5, Tribologie, VM, Practica dom
21| 10056 | O 6| 5|10 O| 5| 7 Mec1, DTI1, Mec2, Fizica, Termoth1 / MS, Mecanisme, Termoth2, MN1, OM1, PAC
22| 10230 [ 6| 7| 6] 9] O] 6| 8 -
23| 8969 | Ol 6/ O] 9] O 6] 9 SIM, Mec2 / RM1, Mecanisme, Practica dom
24| 9435 | O] O 5| 9| 3| 6/10 SIM, GD, Mec2, DTI2 / OM1, Tribologie, VM, Practica dom
25| 10242 | 5|1 6| 4] 5| 3| 0] 8 SIM, GD, Fizica, Termoth1 / RM1, Termoth2, RM2
26| 9481 0| 5| 5] 9| 5] 0f10 GD, Mec2, Ed fiz1 / RM1, OM1, PAC
27| 8568 | Ol 5| O] Ol Of O] O SIM, DTI1, GD / Mecanisme, TCD, OM1
28| 9661 | 5| 6| 0| 8| 4| 7|10 Mec2 / -
29| 9490 | 5|1 O 5] 5| 4| 0] 9 SIM, GD, Termoth1,Ed fiz1 / RM1, Termoth2, MN1, Tribologie, VM
30 9491 0l 0] 0] 9] 0Of O O SIM, GD, Mec2, DTI2 / RM1, TCD, OM1, Tribologie, Practica dom
31 9510 | 51 O O] 7| 3| O] O SIM, Mec1, GD, PCLP, Mec2, DTI2 / RM1, Mecanisme, TCD, MN1
32| 9515 | 5] 7| 5| 7] 4| 5] 9 -
33| 10329 | 7| 6| 7| 8| 4| 8|10 - /| PAC, Tribologie
34| 9543 | 6| 9| 6]|10] 5] 9| 9| 7,367|SIM, Ed fiz1/-
35| 9574 | O O 6] 5| 3| 5|10 SIM, Mec2, Ed fiz1 / RM2, MN1, OM1, VM, Ed fiz3, Practica dom
36| 10424 | O 6| 7| 5] 4| 7| 9 -/ RM1
37| 8261 0] Of O] Of 0] Of 9 SIM, Mec1, Mec2 / RM2, Ed fiz3




